
1 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-208hh-stand-and-motor
7/18/25

JWP-208HH Stand and Motor
Product Images

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-208hh-stand-and-motor


2 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-208hh-stand-and-motor
7/18/25

Description

Index
Number Part Number Description Size Qty

1 JWP208-401 Stand  1

2 JWP208-402 Cover  2

3 TS-2286201 Flat Head Machine Screw M6 x 20 8

4 6292796 Bar  2

5 JWP208-405 Motor Mount  1

6 TS-1524011 Set Screw M8 x 8 4

7 JWP208-407 Collar  1

8 JWP208-408 Adjust Bolt  2

9 TS-1540081 Nut M12 8

10 TS-0680061 Washer 1/2 4

11 TS-1490041 Hex Cap Screw M8 x 35 4

12 TS-0680031 Washer 5/16 4

13 TS-1540061 Nut M8 4

14 JWP208-414 Motor (3HP, 1Ph, 230V)  1

 209-5023 Motor (5HP, 1Ph, 230V)  1

 JWP208-414A Motor (5HP, 3Ph, 230/460V)  1

15 JWP208-415 Key  1

16 TS-1492051 Hex Cap Screw M12 x 50 4

17 JWP208-417 Power Cord  1

 JWP208HH-417 Power Cord (for 5HP, 1PH, 230V only)  1

18 JWP208-418 Strain Relief  1

 JWP208HH-418 Strain Relief (for 5HP, 1PH, 230V only)  1

19 TS-0680031 Washer 5/16 4

20 STRIPE-1-3/4 JET Stripe (not shown) 1-3/4 w per ft

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-208hh-stand-and-motor


3 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-208hh-stand-and-motor
7/18/25

Additional Information

Stock Number 708544-3

Products in this set

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-208hh-stand-and-motor

